PHYS851 Quantum Mechanics I, Fall 2007

HOMEWORK ASSIGNMENT 2:
Postulates of Quantum Mechanics

1. [10 pts] Assume that A|p,) = ap|dn) but that (¢p,|¢,) # 1. Prove that |a,) = c|¢p,) is also an
eigenstate of A. What is its eigenvalue? What should ¢ be so that (a,|a,)=17

2. [10 pts] Assume that |¢,) and |a,) are degenerate eigenstates of A with eigenvalue a,. They sat-

isfy (¢n|pn) = (anla,) = 1 and (¢,|a,) # 1. Show that the states |an,1) = |a,) and |ay,2) =

Hm:lgﬁégﬂmu are both eigenstates of A with eigenvalue a,,, and are mutually orthogonal.

Now assume that the system is in an arbitrary state |¢)) when A is measured. Write an expression
for the probability to obtain the result a,,. Write down the state of the system immediately after the
measurement, assuming that a,, was obtained by random chance.
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3. [20 pts] Consider the wavefunction ¢(z) = (z|¢) = Ne 22 . What should the value of A/ be so
that (¢|¢) =17

What is the probability to find the system between position x and z + dz?

Calculate the expectation value (X) = (¢|X|¢) and the uncertainty AX = /(X?2) — (X)2.

Note: X is the position operator, satisfying X|z) = z|z). Does the interpretation of (X) as the
average value of x and Ax as the ‘spread’ around the average make sense for this example?

4. [10 pts] Consider a particle whose wavefunction is that used in the previous problem. The position
of the particle is then measured with a resolution of A. What is the probability that the particle
is found within £A/2 of position x? What is the state vector of the system immediately after the
measurement, assuming that the particle was indeed found within +£A /2 of position x?

5. Consider a quantum system with three energy eigenstates, which we can call |1), |2), and |3). The
Hamiltonian of the system is

H=h[(4x10% 1|11 + (1 x 10%7H)[2)(2] + (3 x 10%s71)[3)(3]] .

Given that these states satisfy H|n) = E,|n), what are E;, Es, and Fj3 in Joules?
Assume that the observable F is described by the Hermitian operator

F =1|f1){fi] + 5 f2) (fa| + 7| f3)(fsl,

where | f1) = —5(11) +12)), |f2) = (1) = [2) + [3)), and f3) = —Z=(|1) — [2) - 2I3)).

Given that these states satisfy F|f,) = fn|fn), what are fi1, fo, and f3?

Do the eigenstates satisfy (f|fn) = Omn?

At time ¢ = 0, the system is in state [1(0)) = %(H} +2|2) + |3)).

If F is measured at time ¢ = Os, what are the possible results of the measurement?

For each possible result, what is the associated probability?

For each possible outcome, what is the state of the system immediately after the measurement?
Now assume that no measurement is made at ¢ = 0, and instead the system evolves freely for ¢t = 7 ns
at which time F is measured.

What are the possible outcomes and associated probabilities in this case?



6. [20 pts] A quantum system can be in one of four possible physical states, {|a1),|az2), |a3), |as)}, which
are the eigenstates of the observable A. The Hamiltonian for this system is given in this basis by

4
H=ho > vmnlam){(an|. (1)

m,n=1

The system is prepared initially in the state [(0)) = %(\aﬁ — |az2)). Numerically determine the
state of the system [¢(t)) at time t = 5/w.
Assume that the observable A is measured at t = 5/w. What are the probabilities P(a,) to obtain

each possible result? For each possible outcome, give the state of the system immediately following
the measurement.



